

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

Progress Estimate Number 12	Contract ID Prime Contracto	241213- or S & A E	D02 quipment & Builders,		Pay Period Start Pay Period End	October 1 Novembe		Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,467,994.56 (\$11,977.65 \$1,456,016.91	
Approval Date									By User	
November 3, 2025	ovember 3, 2025 Generated and Approved (and should be considered Draft) at the Project O									
November 3, 2025		Resident Engineer Level by	browns1							
November 4, 2025		e Controllers Office Level by	ramses1							
Original Completi	Current C	ompletion Date	А	ctual Completion	ompletion Date % of Current Contract Amount Complete					
November 1, 2	025	Novem	nber 1, 2025	52.76%						
	Contr	act Informa	tional Dates					Milestones		
Date Description	Original Comp	letion Date	Current Completio	n Date	1	No Milest	tones Exi	st for Contract		
Acceptance Date										
Awarded Date	January 8, 2025	5	January 8, 2025							
Letting Date	December 13, 2024 December 13, 2024									
Notice to Proceed Date	February 10, 20	25								
Work Began Date	June 10, 2025		June 10, 2025							

Contract Total Pay For Estimate No. 12											
		This Estimate	Previous	To Date							
241213-D02											
	Total Posted Items Pay	\$26,660.72	\$741,557.90	\$768,218.62							
	Gross Item Adjustments	(\$2,515.48)	\$703.79	(\$1,811.69)							
	Incentive	\$0.00	\$0.00	\$0.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
	•		\$742,261.69	\$766,406.93							
Contract Total Pay	vable This Estimate:	\$24.145.24									

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0113	0070	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$8.610	296	\$2,548.56
	0110	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	SQYD	\$81.460	296	\$24,112.16

 Project JCD0113 - Total
 \$26,660.72

 Overall - Total
 \$26,660.72

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0113	0030	EMBANKMENT IN PLACE	Material			-2,098	\$46.15	(\$96,822.70)
	0030	EMBANKMENT IN PLACE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	2,098	\$46.15	\$96,822.70
	0040	COMPACTING EMBANKMENT	Material			-135	\$5.38	(\$726.30)
	0040	COMPACTING EMBANKMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	135	\$5.38	\$726.30
	0070	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-296	\$8.61	(\$2,548.56)
	0070	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	296	\$0.02	\$6.62

Revision 10/17/2025 Page 1 of 13

(\$2,515.48)



Total

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

Estimat	gress e Numl 12		213-D02 A Equipment a	& Builders, LL	.C Pay Period End November 1, 2025 N	riginal Contra et Change Ord urrent Contrad	ler Amount	\$1,467,994.56 (\$11,977.65 \$1,456,016.91
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0113	0110	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	296	\$0.09	\$26.46
	0120	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-817.25300	\$78.49	(\$64,146.19)
	0120	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user lafava1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	817.25300	\$78.49	\$64,146.19
	0130	MISC.	Material			-300	\$83.36	(\$25,008.00)
	0130	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user lafava1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	300	\$83.36	\$25,008.00
	0230	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	Material			-250	\$61.89	(\$15,472.50)
	0230	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user lafava1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	250	\$61.89	\$15,472.50
	0600	TEMPORARY TRAFFIC SIGNALS AND LIGHTING	Material			-1	\$126,208.04	(\$126,208.04)
	0600	TEMPORARY TRAFFIC SIGNALS AND LIGHTING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user lafava1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	1	\$126,208.04	\$126,208.04

Revision 10/17/2025 Page 2 of 13



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

Number   Proj. Number   Numb		Contract Project Information											
Totals by Job Numbers   To Date	Project Number	Proj.		Route	County	Location of Work							
This Estimate	JCD0113		Roundabout	87	MONITEAU	at Route C near High	Point						
Posted Item Pay         \$26,660.72         \$741,557.90         \$768,218.62           Gross Item Adjustments         (\$2,515.48)         \$703.79         (\$1,811.69)           Gross Item Pay         \$24,145.24         \$742,261.69         \$766,406.93           Incentive         \$0.00         \$0.00         \$0.00           Disincentive         \$0.00         \$0.00         \$0.00	Totals by Job Numbers												
<b>Disincentive</b> \$0.00 \$0.00 \$0.00	JCD0113				tem Pay	\$26,660.72 (\$2,515.48)	\$741,557.90 \$703.79	\$768,218.62 (\$1,811.69)					
Other Contract Adjustments \$0.00 \$0.00 \$0.00		Disince Liquida	ntive ted Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00					

Revision 5/29/2025 Page 3 of 13



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 2035500, Project Item Line Number 0030, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	lafava1: Need QA test entered. Passing results obtained in the field	lafava1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 2036000, Project Item Line Number 0040, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	lafava1: Need QA test entered. Passing results obtained in the field	lafava1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 3040504, Project Item Line Number 0070, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	lafava1: Need QC test data entered	lafava1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 5021332, Project Item Line Number 0120, Material Set 502133296, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	lafava1: Will need more QC testing due to quantity; have one passing test entered. Will obtain more as concrete is installed	lafava1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 5021332, Project Item Line Number 0120, Material Set 502133296, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	lafava1: Will need more QC testing due to quantity; have one passing test entered. Will obtain more as concrete is installed	lafava1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 5029905, Project Item Line Number 0130, Material Set 502990596, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	lafava1: White cure used; system looking for clear. Working with Materials to resolve	lafava1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 6173600D, Project Item Line Number 0230, Material Set 6173600D96, Material 0617TCRCTF - Type F Concrete Traffic Barrier, Acceptance Action Generic 0617TCRCTF is insufficient.	lafava1: Certs on file	lafava1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0113, Item 9029401, Project Item Line Number 0600, Material Set 902940196, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	lafava1: Materials to change to visual test	lafava1	Overridden

Revision 5/29/2025 Page 4 of 13



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	d on Report Generated date and can differ from the post	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241213-	JCD0113	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.40	\$60,962.41	\$24,384.96
002		0001	0020	2031000	CLASS A EXCAVATION	1,006.00	36.00	1,042.00	CUYD	159.00	\$10.53	\$1,674.27
		0001	0030	2035500	EMBANKMENT IN PLACE	2,453.00	-355.00	2,098.00	CUYD	2,098.00	\$46.15	\$96,822.70
		0001	0040	2036000	COMPACTING EMBANKMENT	860.00	-213.00	647.00	CUYD	135.00	\$5.38	\$726.3
		0001	0050	2063000	CLASS 3 EXCAVATION	103.00	0.00	103.00	CUYD	0.00	\$9.24	\$0.0
		0001	0060	2079909	MISC.MOD. LINEAR GRADING, CLASS 2	10.80	0.00	10.80	STA	10.80	\$872.77	\$9,425.9
		0001	0070	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	460.00	0.00	460.00	SQYD	296.00	\$8.61	\$2,548.5
		0001	0800	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	6,575.00	359.00	6,934.00	SQYD	2,551.00	\$9.63	\$24,566.1
		0001	0090	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	98.00	0.00	98.00	TONS	0.00	\$32.72	\$0.0
		0001	0100	4019905	MISC.OPTIONAL PAVEMENT	261.00	0.00	261.00	SQYD	261.00	\$76.25	\$19,901.2
		0001	0110	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	720.70	0.00	720.70	SQYD	483.00	\$81.46	\$39,345.1
		0001	0120	5021332	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	5,709.70	0.00	5,709.70	SQYD	2,935.00	\$78.49	\$230,368.1
		0001	0130	5029905	MISC.TRUCK APRON PAVEMENT	603.20	0.00	603.20	SQYD	300.00	\$83.36	\$25,008.0
		0001	0140	6083006	6 IN. CONCRETE MEDIAN STRIP	602.00	-7.00	595.00	SQYD	0.00	\$61.79	\$0.0
		0001	0150	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	245.00	0.00	245.00	LF	0.00	\$48.23	\$0.0
		0001	0160	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	137.00	0.00	137.00	CUYD	0.00	\$66.26	\$0.0
		0001	0170	6096041	PLACING TYPE 1 ROCK DITCH LINER	137.00	0.00	137.00	CUYD	0.00	\$32.26	\$0.0
		0001	0180	6161005	CONSTRUCTION SIGNS	668.00	192.00	860.00	SQFT	791.00	\$10.52	\$8,321.3
		0001	0190	6161025	CHANNELIZER (TRIM-LINE)	130.00	0.00	130.00	EA	100.00	\$21.03	\$2,103.0
		0001	0200	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	0.00	\$1,051.73	\$0.0
		0001	0210	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	8.00	0.00	8.00	EA	4.00	\$3,365.55	\$13,462.2
		0001	0220	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	8.00	\$1,262.08	\$10,096.6
		0001	0230	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	250.00	0.00	250.00	LF	250.00	\$61.89	\$15,472.5
		0001	0240	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$111,889.98	\$111,889.9
		0001	0250	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.0
		0001	0260	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	150.00	0.00	150.00	LF	0.00	\$36.81	\$0.0
		0001	0270	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	90.00	0.00	90.00	LF	0.00	\$36.81	\$0.0
		0001	0280	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	40.00	0.00	40.00	EA	0.00	\$26.29	\$0.0
		0001	0290	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	72.00	0.00	72.00	LF	0.00	\$29.45	\$0.0
		0001	0300	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,755.00	40.00	2,795.00	LF	0.00	\$1.58	\$0.0
		0001	0310	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,704.00	41.00	2,745.00	LF	0.00	\$1.58	\$0.0
		0001	0320	6209902	MISC.TRANSVERSE RUMBLE	4.00	0.00	4.00	EA	0.00	\$4,837.97	\$0.0
		0001	0330	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	531.00	0.00	531.00	SQYD	0.00	\$6.55	\$0.0
		0001	0340	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.15	\$26,293.34	\$3,944.0
			0350		12 IN. PIPE GROUP B	43.00	0.00	43.00	LF	0.00	\$60.56	\$0.0
		0001	0360		15 IN. PIPE GROUP B	73.00	0.00	73.00	LF	0.00	\$50.39	\$0.0
		0001	0370	7250318A	18 IN. PIPE GROUP B	154.00	0.00	154.00	LF	42.00	\$31.31	\$1,315.0
		0001	0380		24 IN. PIPE GROUP B	86.00	0.00	86.00	LF	0.00	\$56.65	\$0.0
		0001	0390		12 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$810.86	\$0.0
		0001	0400		15 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$868.70	\$0.0
		0001	0410	7320018A 7320024A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	4.00	0.00	4.00	EA	0.00	\$951.32	\$0.1
		0001	0420	8059901	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION  MISC.SEEDING AND MULCHING	2.00	0.00	1.00	LS	0.00	\$975.74 \$3,523.31	\$0.0
		0001							LF			
		0001	0440	8061006	ALTERNATE DITCH CHECK	380.00	0.00	380.00		67.00	\$9.47	\$634.4
		0020	0450	8061016	SEDIMENT REMOVAL	10.00	0.00	10.00	CUYD	0.00	\$47.58	\$0.
		0020	0460	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	7.00	0.00	7.00	EA	0.00	\$2,985.87	\$0.0
		0020	0470	9011106	BRACKET ARM, 6 FT. OR 1.8 M	7.00	0.00	7.00	EA	0.00	\$617.37	\$0.
		0020	0480	9011311	LUMINAIRE, LED-A	7.00	0.00	7.00	EA	0.00	\$373.37	\$0.0
			0490	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	0.00	\$10,306.99	\$0.0
		0020	0500	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	16.00	0.00	16.00	LF	0.00	\$16.83	\$0.

Revision 5/29/2025 Page 5 of 13



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241213-	JCD0113	0020	0510	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	54.00	0.00	54.00	LF	0.00	\$18.93	\$0.00
D02		0020	0520	9014003	CONDUIT, 3 IN. RIGID, PUSHED	123.00	0.00	123.00	LF	0.00	\$23.14	\$0.00
		0020	0530	9015010	TRENCHING TYPE I	1,136.00	0.00	1,136.00	LF	0.00	\$8.41	\$0.00
		0020	0540	9016110	PULL BOX, PREFORMED CLASS 1	4.00	0.00	4.00	EA	0.00	\$1,787.95	\$0.00
		0020	0550	9017002	CABLE, 2 AWG 1 CONDUCTOR	80.00	0.00	80.00	LF	0.00	\$5.05	\$0.00
		0020	0560	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	510.00	0.00	510.00	LF	0.00	\$1.05	\$0.00
		0020	0570	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	1,560.00	0.00	1,560.00	LF	0.00	\$4.00	\$0.00
		0020	0580	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	7.00	0.00	7.00	EA	0.00	\$1,594.43	\$0.00
		0020	0590	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	1.00	0.00	1.00	EA	0.00	\$10,306.99	\$0.00
		0030	0600	9029401	TEMPORARY TRAFFIC SIGNALS AND LIGHTING	1.00	0.00	1.00	LS	1.00	\$126,208.04	\$126,208.04
		0040	0610	9031010	CONCRETE FOOTINGS, EMBEDDED	4.80	0.00	4.80	CUYD	0.00	\$2,189.70	\$0.00
		0040	0620	9031210	STRUCTURAL STEEL POSTS	1,330.00	0.00	1,330.00	LB	0.00	\$5.54	\$0.00
		0040	0630	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	37.00	0.00	37.00	EA	0.00	\$319.63	\$0.00
		0040	0640	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	20.00	0.00	20.00	EA	0.00	\$112.49	\$0.00
		0040	0650	9031280	2.5 IN. PSST POST - 12 GA.	528.00	0.00	528.00	LF	0.00	\$12.69	\$0.00
		0040	0660	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	40.00	0.00	40.00	EA	0.00	\$315.69	\$0.00
		0040	0670	9035004A	SH-FLAT SHEET	279.00	0.00	279.00	SQFT	0.00	\$22.18	\$0.00
		0040	0680	9035011A	ST-STRUCTURAL	124.00	0.00	124.00	SQFT	0.00	\$34.78	\$0.00
		0040	0690	9035069A	SHF-FLAT SHEET FLUORESCENT	88.00	0.00	88.00	SQFT	0.00	\$28.63	\$0.00
	Project JC	CD0113 - To	tal Value	Posted to D	Date as of Report Generated Date							\$768,218.61
241213-D	02 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$768,218.61

Revision 5/29/2025 Page 6 of 13



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0113

Line Number	Item Code	Description	DWR Date	DWR Approval Date		Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	3040504	TYPE 5 AGGREGATE FOR BASE	10/31/25	11/3/25	1	146.80	SQYD	SQMO Owner 3 LLC Route 87 Entrance					
				11/3/25	2	149.20	SQYD	SQMO Owner 3 LLC Route C Entrance					
0110	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED,	10/31/25	11/3/25	1	146.80	SQYD	SQMO Owner 3 LLC Route 87 Entrance					
				11/3/25	2	149.20	SQYD	SQMO Owner 3 LLC Route C Entrance					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 7 of 13



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
JCD0113	0020	CLASS A EXCAVATION	Price FUEL		11	Oct 15, 2025	SYSTEM	\$4.74	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
				- Total				\$4.74								
			Price FUEL - T	otal				\$4.74								
	0020 -							\$4.74								
	0030	EMBANKMENT IN PLACE	Material		7	Aug 18, 2025	SYSTEM	(\$49,795.85)								
					7	Aug 18, 2025	SYSTEM	\$49,795.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
					8	Sep 2, 2025	SYSTEM	(\$49,795.85)								
					8	Sep 2, 2025	SYSTEM	\$49,795.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
					9	Sep 16, 2025	SYSTEM	(\$49,795.85)								
					9	Sep 16, 2025	SYSTEM	\$49,795.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
							10	Oct 1, 2025	SYSTEM	(\$96,822.70)						
											10	Oct 1, 2025	SYSTEM	\$96,822.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					11	Oct 15, 2025	SYSTEM	(\$96,822.70)								
					11	Oct 15, 2025	SYSTEM	\$96,822.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
					12	Nov 3, 2025	SYSTEM	(\$96,822.70)								
					12	Nov 3, 2025	SYSTEM	\$96,822.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user lafava1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
				- Total				\$0.00								
			Material - Tota	ı				\$0.00								
			Price FUEL		7	Aug 18, 2025	SYSTEM	\$102.34	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
					10	Oct 1, 2025	SYSTEM	\$71.69	Reference Item Price Adjustment Index Adjustment Type applied is FUEL							
				- Total				\$174.03								
			Price FUEL - T	otal				\$174.03								
	0030 -							\$174.03								
	0040	COMPACTING EMBANKMENT	Material		7	Aug 18, 2025	SYSTEM	(\$333.56)								
					7	Aug 18, 2025	SYSTEM	\$333.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.							
					8	Sep 2, 2025	SYSTEM	(\$333.56)								
						8	8					8	Sep 2, 2025	SYSTEM	\$333.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Sep 16, 2025	SYSTEM	(\$333.56)								
					9	Sep 16, 2025	SYSTEM	\$333.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.							
					10	Oct 1, 2025	SYSTEM	(\$726.30)								
					10	Oct 1, 2025	SYSTEM	\$726.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.							
					11	Oct 15,	SYSTEM	(\$726.30)								



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0113	0040	COMPACTING	Material	,,		2025			
		EMBANKMENT			11	Oct 15,	SYSTEM	\$726.30	This adjustment offsets the original system-generated Material Payment
						2025	CTOTEM	ψ120.00	Estimate Item Adjustment (0003) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					12	Nov 3, 2025	SYSTEM	(\$726.30)	
					12	Nov 3, 2025	SYSTEM	\$726.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment
								44.44	Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0040 -	Total						\$0.00	
	0070	TYPE 5 AGGREGATE FOR BASE	Material		12	Nov 3, 2025	SYSTEM	(\$2,548.56)	
		TOTEDAGE		- Total				(\$2,548.56)	
			Material - Tota					(\$2,548.56)	
			Price FUEL		12	Nov 3, 2025	SYSTEM	\$6.62	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$6.62	
			Price FUEL - T					\$6.62	
	0070 -	Total						(\$2,541.94)	
	0800	TYPE 5 AGGREGATE	Material		7	Aug 18, 2025	SYSTEM	(\$12,345.66)	
		FOR BASE (6 IN. THICK)			7	Aug 18, 2025	SYSTEM	\$12,345.66	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user lafava1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Sep 2, 2025	SYSTEM	(\$12,345.66)	
					8	Sep 2, 2025	SYSTEM	\$12,345.66	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user lafava1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
			Material - Tota Price FUEL		7	Aug 18, 2025	SYSTEM	\$79.91	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					10	Oct 1, 2025	SYSTEM	\$58.67	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$138.58	
			Price FUEL - T					\$138.58	
	0080	Total						\$138.58	
		MISC.	Material		5	Jul 16, 2025	SYSTEM	(\$19,901.25)	
					6	Aug 4, 2025	SYSTEM	(\$19,901.25)	
					6	Aug 4, 2025	SYSTEM	\$19,901.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user lafava1 overridding Payment
				- Total				(\$19.904.2E)	Estimate Exception 1 on the current Payment Estimate.
			Motorial Total					(\$19,901.25)	
			Material - Tota				0)/2==:	(\$19,901.25)	
			MaterialCredit		6	Aug 4, 2025	SYSTEM	\$19,901.25	
				- Total				\$19,901.25	
			MaterialCredit	- Total				\$19,901.25	
			Other Item Adjustment	FUEL	5	Jul 16, 2025	coram	(\$42.49)	Fuel Adjustment
				FUEL - Tota	ı			(\$42.49)	
			Other Item Adj	ustment - To	tal			(\$42.49)	
	0100 -	Total						(\$42.49)	
	0110	CONCRETE PAVEMENT (8 IN. NON-	Material		8	Sep 2, 2025	SYSTEM	(\$5,539.28)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0113	0110	REINFORCED,	Material		9	Sep 16, 2025	SYSTEM	(\$5,539.28)	
					9	Sep 16, 2025	SYSTEM	\$5,539.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user lafava1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				(\$5,539.28)	
			Material - Tota					(\$5,539.28)	
			MaterialCredit		9	Sep 16, 2025	SYSTEM	\$5,539.28	
				- Total				\$5,539.28	
			MaterialCredit	- Total				\$5,539.28	
			Price FUEL		8	Sep 2, 2025	SYSTEM	\$11.06	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Oct 15, 2025	SYSTEM	\$10.64	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Nov 3, 2025	SYSTEM	\$26.46	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$48.16	
			Price FUEL - T	otal				\$48.16	
	0110 -	Total						\$48.16	
	0120	CONCRETE PAVEMENT (8 1/2 IN. NON-REINF,	Material		7	Aug 18, 2025	SYSTEM	(\$19,779.48)	
					8	Sep 2, 2025	SYSTEM	(\$115,615.77)	
					9	Sep 16, 2025	SYSTEM	(\$115,615.77)	
					9	Sep 16, 2025	SYSTEM	\$115,615.77	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user lafava1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					11	Oct 15, 2025	SYSTEM	(\$64,146.19)	
					11	Oct 15, 2025	SYSTEM	\$64,146.19	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user lafava1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Nov 3, 2025	SYSTEM	(\$64,146.19)	
					12	Nov 3, 2025	SYSTEM	\$64,146.19	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user lafava1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				(\$135,395.25)	
			Material - Tota					(\$135,395.25)	
			MaterialCredit		8	Sep 2, 2025	SYSTEM	\$19,779.48	
					9	Sep 16, 2025	SYSTEM	\$115,615.77	
				- Total				\$135,395.25	
			MaterialCredit	- Total				\$135,395.25	
			Price FUEL		7	Aug 18, 2025	SYSTEM	\$45.07	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Sep 2, 2025	SYSTEM	\$218.39	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Oct 15, 2025	SYSTEM	\$143.77	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$407.23	
	0120		Price FUEL - T	otal				\$407.23	
	0120 -				10	0.1.1	0)/0==-:	\$407.23	
	0130	MISC.	Material		10	Oct 1, 2025	SYSTEM	(\$25,008.00)	This adjustment offsets the existing party of the state o
					10	Oct 1, 2025	SYSTEM	\$25,008.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user lafava1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					11	Oct 15,	SYSTEM	(\$25,008.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0113	0130	MISC.	Material	31		2025			
					11	Oct 15, 2025	SYSTEM	\$25,008.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user lafava1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					12	Nov 3, 2025	SYSTEM	(\$25,008.00)	
					12	Nov 3, 2025	SYSTEM	\$25,008.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user lafava1 overridding Payment
				- Total				\$0.00	Estimate Exception 6 on the current Payment Estimate.
			Material - Total					\$0.00	
	0130 -	Total						\$0.00	
	0180	CONSTRUCTION SIGNS	Overrun	Overrun	5	Jul 16, 2025	SYSTEM	(\$1,293.96)	
					6	Aug 4, 2025	SYSTEM	\$1,293.96	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',10.52000 - 10.52000, 'is
				Overrup To	otal			\$0.00	applied (if non-zero).
			Overrun - Total Overrun - Total					\$0.00	
	0180 -	Total	Overruit - Tota					\$0.00	
		CHANGEABLE	Material		2	Jun 2,	SYSTEM	(\$13,462.20)	
	0210	MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	material			2025		,	
				- Total				(\$13,462.20)	
			Material - Tota	l				(\$13,462.20)	
			MaterialCredit		3	Jun 16, 2025	SYSTEM	\$13,462.20	
			MatarialOvadit	- Total				\$13,462.20	
	0240	Total	MaterialCredit	- IOIAI				\$13,462.20 \$0.00	
	0210 -	TEMPORARY	Material		9	Sep 16,	SYSTEM	(\$15,472.50)	
	0230	TRAFFIC BARRIER, CONT. FURN/RE			9	2025 Sep 16,	SYSTEM	\$15,472.50	This adjustment offsets the original system-generated Material Payment
						2025			Estimate Item Adjustment (0007) due to user lafava1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	Oct 1, 2025	SYSTEM	(\$15,472.50)	
					10	Oct 1, 2025	SYSTEM	\$15,472.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user lafava1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					11	Oct 15, 2025	SYSTEM	(\$15,472.50)	
					11	Oct 15, 2025	SYSTEM	\$15,472.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user lafava1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					12	Nov 3, 2025	SYSTEM	(\$15,472.50)	
					12	Nov 3, 2025	SYSTEM	\$15,472.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user lafava1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0230 -	0230 - Total						\$0.00	
		TEMPORARY TRAFFIC SIGNALS AND LIGHTING	Material		6	Aug 4, 2025	SYSTEM	(\$126,208.04)	
					6	Aug 4, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user lafava1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Aug 18, 2025	SYSTEM	(\$126,208.04)	
					7	Aug 18, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user lafava1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					8	Sep 2,	SYSTEM	(\$126,208.04)	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0113	0600	TEMPORARY TRAFFIC SIGNALS AND LIGHTING	Material			2025			
					8	Sep 2, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user lafava1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					9	Sep 16, 2025	SYSTEM	(\$126,208.04)	
					9	Sep 16, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user lafava1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					10	Oct 1, 2025	SYSTEM	(\$126,208.04)	
					10	Oct 1, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user lafava1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					11	Oct 15, 2025	SYSTEM	(\$126,208.04)	
					11	Oct 15, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user lafava1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					12	Nov 3, 2025	SYSTEM	(\$126,208.04)	
					12	Nov 3, 2025	SYSTEM	\$126,208.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user lafava1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
0600 - Total							<b>\$0.00</b> (\$1,811.69)		
JCD0113 - Total									
Overall - Total								(\$1,811.69)	

# MoDOT

## **Contract Adjustments for Contract - 241213-D02**

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 13 of 13